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fh 4 JE Hh & Wae | %K E=E i fiE T fE g2y ]
IENE AbE 10. 00| AHxf 263 2,630 2,592 2,253 2,052
HOR w5 5. 00 | #Hx} 24 120 4,320 3,627 2,160
H ¥ £ ¥ 15. 00| AHxf 976 14,640 1,620| 1,251 11
X D BB 10. 00| AH%F 720 7,200 1,296 909 756
ESF AWII--N E % 4. 00 | FHxf 59 236| 5,076| 4,692| 4,428
H % i 3. 00| FHxf 10 30| 1,566| 1,388 1,134
H A ] 1L 1. 00| FHxf 160 160 1,080 891 432
ENIEE .00 4% 8l 90| 3,240 2,559 1,944
A w5 5. 00 | FHx} 26 130 2,160| 1,865 1,620
= m | 0.40| fxf|  e00| 240  162| 145 108
= %O 4. 00| FH%f 309 1,236 2,484| 2,076| 1,188
[N %% 5. 00| FHxf 388 1,940 1,998| 1,640| 1,080
-~ =% 0. 15| FHxf 4,169 627 76 69 59
A7 k= b AbiEiE 3. 00| FH%f 470 1,410 2,592 2,487| 1,944
(= AbiEiE 0. 10| #H%f 80 8 194
= ;| 2.00| 4% | il 26| 1,080 690 432
H ik w5 5. 00| FHx%f 74 370 1,944 1,724 1,080
A—0 4 AbifEE 10. 00| 4B} 20 200 2, 160
B O 10. 00 | #85f 157 1,570 3,240 2,380| 2,160
£ A AbiEiE 20. 00 | #H 5%} 265 5,300 2,268 2,161 2,052
o | 10.00| fxr | se0| 3,900 2,160| 2,001| 1,620
LA £ ¥ 10. 00 | #H % 1, 687 16,870 2,160| 1,841 1, 080
P=—1L & £ ¥ 4, 00| FH*} 895 3,580 2,160 1, 569 540
Tuyal— E % 4. 00| fHxf 30 120 2, 754
AEMEE O 0. 10| FHf 1, 950 195 151 100 65
ZDEH E % 0. 20| FA%F 660 132 70 65 65
LU 5 % 0. 20| FA%F 300 60 90 86 84
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RS i Fosk L 10. 00 | #H%F 457 4,570 4,320 3,100| 2,052
DOND H & 10. 00| FA % 530 5,300 3,780| 2,539 432
= /N o 10. 00| AHxf 150 1,500| 3,780| 3,395| 3,024
(& I | 10.00| Faxk| 1088 10,880 3,780 3,156| 2,484

PE G 5. 00 [ FH %} 280 1,400 4,320 3,434| 1,944
B k¥ . 35| FH%t 250 88 540 503 432
B A — % [T .00 [ #H %t 20 40| 1,836 1,674| 1,512
P (RS oAk L 0. 30 | FHx} 1, 340 402 302 296 259
Ed = IE 10. 00| FA % 38 380 10,800 9,891 8,640




